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Rational Numbers - Review I

1. Place each of the following rational numbers on the number line:

13 -16 ) d) 19090 | ¢)1777 ) —2.999 2
a) b) g2 | g 3
3 2 : 5
b 4
P TR N LA TR NN N K0 R o N
N I I | | | I | I | ’
5 4 3 -2 -1 0 1 2 3 4
2. Arrange each of the following rational numbers from LEAST to GREATEST:
5 1 7 9 11 13 15
a) 2.09, —, 2.0909, 2—, 2.00999 b) —, —, —, —. —
A 2 10 23 4 5 6
a2 C > £ A B c D E
ode: £, A ¢, DB oder: € >, ¢, @, A
2 3 8 33 11 7 — 3 8 4
C:l S g oy T d] e _39995 T o Tar o
374 9 36 12 2 71005
A B ¢ D-F A B ¢ D=F
6der A B ¢, Da~dE oresr: @)A‘C/, Derd £
e) 4.09, 4.09, 4.090, 4.099, 4.1
A 2 c > £
order: A B, Cc,DE
3. Given the list of numbers below, indicate which of them are equal to each other:
B3 [po1os VA 1]‘1 1Y
47 N16© 47 1000 5 7 T l3) 7 3
seip!
4.The value of 01+012+0123 is:
(A) 0.343 (B) 0.355 (C) 0.35 (E) 0.355445
O- 1111111y
+ 0- ,9_,212!212IZ |
0. 1231231231232

O-25s44625S4ub 3
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[« 6 )‘/’Lo Z M 40
5. Convert each of the following into a fraction:
a) 0.25 b) 0.125 c) 0.35 d) 0.123
23 . L 125 . L 35 - 7 122
Joo & ) O 00 s oo 20 —)?gg
e) 0.87 10333 - 0.2 g) 0131313 = o072 | h) 0.142857
2T 3.1 1z magsT
loo 3 3 9 4494994 7
) 0.1666 = ). <10 j)0.8333= &2 <1o |k 0.05 ) 0.06666 = 0-0&
6 g - Lo =252 S - 6 2o =6 - |
= = 1S, A=) Zlo = 2220 == L - e - _4
la o= Bro=7 | 53700 s lo° 20 9 0 IS
q ¢ 3
- %
6. Write each of the following fractions in decimal form:
1 3 1 15 |
=~ = 0.25 b2 - 5. g = Z d—= = L - o2
4 g - ©37% 6 2 75 s
0-6
23 — 25 == 174 =
)2 = 022 f) =— = 0-0250 ) — = . h)y= = O-)u28S 7
99 999 &0 = 4
hL - %2552 ”i - 45 oas |2 o022 ) 0076923 o
11 44 11 24 9999 !
7. Add the following without a calculator:
3 1 4 7 -5 -11 4 13
a) —+— b) —+— c) —+— d) —+—
4 12 5 10 6 15 15 20
o, s 5.2 —47 l
2~ T fo 2 20 77
8 -23 4 3 12 19 1 2
e) —+— f) —+— g) —+— h) 3—+4—
11 99 8 7 5 10 4 3
44 _ 43 95
i " _
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[a] ! 2 1u @4 2
4 Il 4z 95
7 4 /O /12
PRV 4t 32 23402 L3
5 3 30 75 5 6 11 99
fod, 222 -22 14
/S 2o 30

33
8. Evaluate the following without a calculator

a) 1.75+0.1666

b) 0.333+0.151515 c) 0.875+0.25

d) 0.125+3.05

l-9)¢ O-4& -125 2-175
e) 1.125+0.111 f) 3.222 +1.324 g) —5.5+3.25 h) 3.85+0.431

1-236) 4.54¢ —2.25 4281

9. Three friends decided to pool all their money together to buy French fries at McDonalds. Jason has $0.84,
Tom has $0.74 and Sally has $1.77. If a medium fries cost $3.15 and a large fries cost $4.31, what can they
afford? How much more do they need to buy the Iarée fries?

Toveh H\ej hawre = 0-§4 +o- 1% +1-77 = 3.35 = medivm
&
Jeod . 4:31-335 = 0.9 For Laze.
10.

Two eagles are flying at the same elevation at 300meters above sea level. One eagle goes up 12.85 meters
and the other one soars 24.65 meters down. What is the vertical distance between the two eagles?

H‘j"\ar aa:j\e IS ek v 200+ 12-5S =

Lowe h v =

312-85 M D Nigr bl Hem = 3125
200 — 2445 T 27535 ™M — 2293
37-5m
11. The temperature last night was —12.5° and the temperature at noon was 13.5°. If the temperature tonight -
is forecasted at 4.3 less than last night, what is the total drop in temperature from noon?

a
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11.

12.

- I
The temperature last night was —12.5° and the temperature at noon was 13.5°. If the temperature tonight
is forecasted at 4.3°less than last night, what is the total drop in temperature from noon?

Syvap 360/ nows!

Kathy owes her brother $5.83 and her friend Sharon 11.84. She currently has $16.83 in her wallet and her
mom will give her $17.45. She needs to buy school supplies that cost a total of $11.32. How much money
will she end up with if she bought all her supplies and paid back everyone.

Skeip Qeo/ row!
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